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— ~ The figure shows the flows of income and expenditure on Lotus Island. During

1997, A was $15 million, B was $30 million, C was $9 million, D was $18 million,

and E was $3 million. (20%)
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1. (4%) What is the private savings?

2. (4%) Calculate national savings.
3. (4%) Where does Lotus Island get the funds to finance its investment?

4.(4%) Supposed that GDP is $40 million below its potential level. It is expected that
next-period GNP will be $20 billion below potential, and that two periods from now it
will be back at its potential level. The multiplier for government spending is 5. What
policy actions can be taken to put GDP back on target each period?

5.(4%) What is the Sacrifice ratio?

= ~ Please answer the following questions: (30%)

1. (12%) In October 1979, the U.S. central bank announced that it would play a less active role in
limiting fluctuations in dollar interest rates. After this new policy was put into effect, the
dollar’s exchange rates against foreign currencies become more volatile. Please analyze the
connection between these two events with the aid of diagram where the exchange rate is the

price of dollars in terms of New Taiwan dollar (for example, NT 33 per dollar).
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2. (18%) The following information has been discovered about the economy of Cape Despair.

Subsistence real GDP is $15 an hour. Whenever real GDP per hour rises above this level,
the population grows, and when real GDP per hour of labor falls below this level, the
population falls. The productivity curve in Cape Despair is as follows:
Capital Real GDP
per hour of labor per hour of labor
(1996 dollars per hour) (1996 dollars per hour)
20 8
40 15
60 21
80 26
100 30
120 33
140 35
160 36

Initially, the population of Cape Despair is constant, and real GDP is at its subsistence level.
Then a technological advance shifts the productivity curve upward by $7 at each level of

capital per hour of labor.

a.(2%) What happens to the population growth rate following the technological advance?

b.(4%) What happens to real GDP per hour of labor immediately following the
technological advance?

c.(4%) What is the eventual quantity of capital per hour of labor in Cape Despair?

d. (8%) Please illustrate New Growth Theory with the aid of diagram containing a
productivity curve and a target rate of return curve. What is the role of knowledge
capital playing in New Growth Theory?
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